NOTES:

1

. ALL MATERIALS AND PROCESSES MUST CONFORM

TO CHRISTIE SPECIFICATION 010-100594

. PACKING FILLERS, BOXES AND LABELS MUST BE

MANUFACTURED ACCORDING TO

CHRISTIE DIGITAL SYSTEMS STANDARD # 010-101136-01:
" PACKAGING LABELING AND MATERIAL GUIDELINE "
. REFER TO SUPPLIER QUALITY STANDARD 010-101164-01

FOR GENERAL QUALITY REQUIREMENTS AND PRACTICES,

AND FOR CRITICAL FEATURE INSPECTION METHODS
) ON THIS SPECIFICATION
. NOT ALL DIMENSIONS SHOWN. REFER TO CAD MATH

IF INDICATED WITH

DATA FOR DETAILS

. WHEN DATUMS ARE SPECIFIED, CAD MATH DATA AND

UNDIMENSIONED FEATURES ARE BASIC, AND THE

(63.5)

il

f

FOLLOWING PROFILE TOLERANCE APPLIES: | ) 0.5|A|B|C
. PARTS MUST BE CLEANED TO REMOVE DEBRIS, OILS,
RESIDUE OR OTHER CONTAMINANTS PRIOR TO SHIPPING
(©6.00) SLIP FIT DOWEL
1X HOLE, 1X SLOT
™ 0 —
< ™ ol
< ({o] N
= o i‘i
(181.0) Llrer——ror—1 9 h”
*' o o N
(140.0 ) " ) )
©
00— ! !
E@
(140.0) é Fjg
( 181.0) j = ! ! - ]
LEFT VIEW
8

MOUNTING SURFACE

0 LENS FLANGE

I
1

Sl ‘
o< |

_gj_‘

\OPTICAL

CENTER AXIS

6X M6X1.0 1V 10.0
MOUNTING HOLES

6 5 4 3 2 1
- o REVISION HISTORY of: 020-101210-01
2 3 S 2 REV  DESCRIPTION OF CHANGE BY  DATE UPDATED
©® ¥ - I @ 01  INITIAL RELEASE KA 10/18/2012
6X M6X1.0 Vv 11.0
MOUNTING HOLES
M
P T5——- - — ] (444.5)
| |
403 B g1 (235 |
(467) | ' ,
(552 Ty
| | %EDD 3 E?
§§§§§§§ i, @ﬁ
. [ 3 i el . . ]
— (63.5) 0.68:1 LENS SHOWN ™~ tj
' F " — j (FOR REFERENCE ONLY) - : : E,
- i il e e |
. == — 0 LENS FLANGE . gg& b )
g U MOUNTING SURFACE N g
B e |
== ! DS S
' | (©6.00) SLIP FIT DOWEL MEEE@%@
OPTlCAL/ 1X HOLE, 1X SLOT FRONT ISOMETRIC VIEW @”ﬂmgggﬁéggég
CENTER AXIS 2
TOP VIEW
L
o
m
— (400) —] ws
2o REAR ISOMETRIC VIEW
<=
1
25 - -
we o v 0 0
2 4o @ =
o L2 o = 6X @ M6X1.0 7' 10.0
MOUNTING HOLES
‘ : . 1 H - g : 2 5
o e t—Fer - —Fete | 181.0) |
CENTER AXIS\ ’ e e
' m 1| | | e e e
o | | ] @Eggg |
2 ko
. = (140.0) it
! (©6.00) SLIP FIT DOWEL * e el l] (181.0) - \
1X HOLE, 1X SLOT \
7X M6X1.0 ¥V 20.0 PRODUCT LICENSE LABEL
MOUNTING HOLES FRONT VIEW CENTER AXIS RIGHT VIEW REAR VIEW
(HANDLES REMOVED)
(¢ 6.00) SLIP FIT DOWEL
3X HOLE, 3X SLOT
CHRISTIE FINISHED GOODS PART NUMBERS:
OPTICAL
CENTER AXIS MASS
_\ CDS PART NUMBER PRODUCT NAME (WITHOUT
EXIT PUPIL PLANE LENS)
. # 130-002103-01 MATRIX StIM-WQ
(¢ 6.00) SLIP FIT DOWEL |
—_— 130-003104-01 MATRIX SIM-WQ 36 kg
1X HOLE, 1X SLOT —r— * B
i A 130-001102-01 MIRAGE WQ-L
6X OM6X1.0 v 11.0 8 — - a f " MOUNTING SURFACE
MOUNTING HOLES\ T @ ‘ PROJECTION LENS OPTIONS:
i e
. (63.5)
: - - o) ~(82.5) [A] EXIT PUPIL [B] LENS FRONT
| EXIT PUPIL DISTANCE FROM FACE TO LENS LENS
CDS PART NUMBER LENS NAME DIAMETER F/# LENS FLANGE FLANGE MASS
MOUNTING MOUNTING
| | SURFACE SURFACE
130-100102-01 Lens WQXGA 0.68:1 6.67mm 2.0 -0.2/+0.0 45mm 85.63mm 2.4kg
I f% 263.5) 130-101103-01 Lens WQXGA 1.29-1.71:1 12.79-15.77mm 2.0 +0.15 75.8-145mm 132-200mm 4.5kg
e - T - e { .
u 130-102104-01 Lens WQXGA 0.80:1 11.84mm 2.0 -0.2/+0.0 146.4mm 210mm 9.0kg
| | MODEL REV: 01 UNITS: MILLIMETRES DRAWN BY: D. GRAFF
MECH. REF # M071506 UNLESS OTHERWISE SPECIFIED DRAWN DATE:| 10/18/2012 ® CHRISTIE DIGITAL SYSTEMS
USED ON: = Mambo INTERPRET DIMENSIONS AND TOLERANCES APPROVED BV . GRAFT c H "f ’S T' E USA, INC.
| | MATERIAL: ~ SEE INDIVIDUAL COMPONENTS AL DIMESIONe S o T ok - CHRISTIE DISITAL SYSTENS
L;j - 1 - C; (444.5) PLATINGS AND COATINGS APPROVAL DATE 07/15/2013 CANADA INC.
T DEBURRING: NONE TOLERANCES APPLY AS SHOWN BELOW
OTHERWISE, SEE NOTE 5 PROPRIETARY
NONE PART DESCRIPTION
FINISH: DECIMAL PLACES INCHES MILLIMETRES NOT TO BE DISCLOSED OR REPRODUCED IN
S L L XXX t005 0. ANY NURITEN PERMISSION OF > DWG LINE STIM-WQ/SIM-WQ/WQ-L
o o o o o NONE .xxx t.g;g tg.g CHRISTIE
- o J— COATING: : :- *0.
00 8 3 0 ANGULAR DIMENSIONS THIRD ANGLE PROJECTION SIZE PART NUMBER REVISION
g3 e D 020-101210-01 01
BOTTOM VIEW T XX.X° t0.1°
SURFACE ~ MICROINCH MICRON ScALE MaSS
SIMILARTO:  NONE ROUGHNESS 6 146 1:5 - LBS [- KG] SHEET 1 OF 2
6 5 4 3 2 1



ADJUSTMENT POINTS & ELECTRICAL 1/O _ 7] _—sTatus DispLAY

o ~__—sTATUSLED
BORESIGHT LOCKING é

SET SCREWS (3X) 1©
IR REMOTE

REMOTE
MODULE e = — : . — I | __—CONTROL NETWORK

e °PFEEY  HaeSSEWE.EEA. D EESRE: ——® ——° ol | (o ecomseReRssses sooReRROREGEqEREEE=sS
aoon [{m]u/w(w(EaEh =t EERS ES3000 =1 AQEONDEEN008 E000 DS EOECZ ——7~~
| DODLDD  DooODoLoEessmges oS0 5 e B ot e B S s e T I N BNC A MULTI-FUNCTION BUTTON
I '3 =sEEEAE =]:5 =: (::] | ] =] H ,/’////__
§ Ogooog E__D_'_'_EIEIIEEE EE8000 E;:SEEQ JE%E%E %E% B E%%E ; N
8 @DEID (1000 @I II/ DgEEEE @ === (e k : aQ II]EEDMF'I’E_:W_TH DDEII]DT:z :’Wr‘fﬂ_ & Eo \\
o —of— e LENS HORIZONTAL SHIFT | e mcsencssiigen cnacenc | o \
b i e Sl o e 5
b - I8 ADJUSTMENT & LOCK KNOB ] iteeinenscns s Rnarcmgesiinen O BNC B~_
A i = FERCDUCHRoRoRn DECPA Frhoncea | o) \
| 7 - O0EONO0O000ROON | KEE@EOC00O0 O @ \ /_INPUT 1
@ o o e ‘:
HEAHERFEA) W OCOF
o Geiiseisctigns sl ye sois = 0 . INPUT 1 SIGNAL INDICATOR
i AobRsenseeeon o : @ - i BNCC— |
LENS VERTICAL SHIFT e e ; | [ __—INPUT 1 FUNCTION INDICATOR
ADJUSTMENT & LOCK KNOB : - . e T Aty ;
. EONCOORD@AOREON BRO0RGOOECOmOE@E0 & & ° Vi RSZ32 IN
OOORO=E8E s \
: DOAWRO000E he L ) ’
qJ: [H 5 DOoEAnO0O0 | F e ™
ZecomC o RS232 OUT—_| | —INPUT 2
gononco oo -~ |
rrrrr Eoe ‘ INPUT 2 SIGNAL INDICATOR
e CRssecenene e . |
segaecoicnocen [ e INPUT 2 FUNCTION INDICATOR
r‘ 7 j ] o o L i o [ E%%%%%%Eﬂ /_
u o) @ @ o @ @) o DO00SEREE0B000
- AN o Bl ] il I,
|_—ARRAYLOC NETWORK

LENS CLAMP (SHOWN " BORESIGHT ADJUSTMENT POWER/ XAC POWER
IN CLOSED PO(SITION) SCREWS (3X) SWITCH RECEPTACLE

DETAIL VIEW
SCALE1:2

THERMAL INFORMATION

AIR INLET 76.2 76.2 AIR OUTLET OPERATING ENVIRONMENT NOTES:

RILLES 1. AMBIENT TEMERATURE: 5 - 40°C
GRILLES RECOMMENDED MINIMUM RECOMMENDED MINIMUM G |
CLEARANCE FOR AIRFLOW CLEARANCE FOR AIRFLOW 2. HUMIDITY: 20 - 80% NON-CONDENSING
— f

T AN .
DO NOT BLOCK FRONT Gl Te - Silo DO NOT BLOCK REAR ! ’
AIR INLET GRILLES AIR INLET/OUTLET GRILLES U Il SR 50—t
i OOPOnOpOOoO000 OBIE | [ @ )
HAACEmO | e e={=] I==]=] H
[ i T ) e ] Fif
o § BOOOm0O000800 ood ||/ ]O
mooomoDOooonn [ ]
[ || wi[m] [m] 3 &
NEECORNO000A=E B0
NOOOOROCO00O00OEA o0 DeamosE0a & T
LDUCEEEEEE00n EEEROMOOE E
A SSE000R0O00S OD0AD 500 Oz >
arEEa DOO0RNOmMROO [E0 MO0 O0ORME00 E o
k OaE0 DOO000OMO0O] | EE0O o =1, o
AIR FLOW AOEEAPOEEECSOE BAREDgRRODA @
. DIRECTION Aatasood-oothnd nafiooeeonorog n
I IODMSEO0EE SE0En OO0 ORSIEEON B
| AIR INLET e e
| GRILLES e T
HEEEs=ERROD-OfN NoSceeecEnod g
Coo@zessoosoo o) i
i opRb PR [EED [ ] YE AIR INLET
froiseteee D ‘ . - GRILLE
(R e el -
iy - B | © MNO0ORCOO000WO00 &) s
. CcEseoess tee E] : -
EEIEIE, OO CORIE ; il
| DdseiocoEconerd |- e
@ @ o @ @ o If OOCENEEEEEONODA U A FEARER } ASHES A H9AER A EARR
\; Q (2] (] @ @ D

AIR OUTLET
AIR INLET
GRILLES GRILLE

CENTER OF GRAVITY

-l
<[
O
R o
- DWW
i~ O™ D
) N OO
N O (=] 3 - v NN

0.68:1 LENS SHOWN Bl Jel Lo ® el
(FOR REFERENCE ONLY) e

BEEEE80 |4
o o o | o

DIONIDO -
I LD (0 (0
] o o | o

- nnmommo |2

|

OPTICAL

CENTER AXIS\
0

(5.0#

i
- i

]

OPTICAL 0 ———
CENTER

5.0

CENTER OF GRAVITY CENTER OF GRAVITY WITH 0.75:1 LENS CENTER OF GRAVITY WITHOUT LENS

(ALL LENSES & WITHOUT LENS) CENTER OF GRAVITY WITH 1.29-1.71:1 ZOOM LENS CENTER OF GRAVITY WITH 0.68:1 LENS

PROPRIETARY SIZE PART NUMBER REVISION

NOT 1088 DISCLOSED OF REPEQDCED I CHxISTIET D 020-101210-01 01

WRITTEN PERMISSION OF CHRISTIE DIGITAL SYSTEMS USA, INC _ SCALE mass

CHRISTIE DIGITAL SYSTEMS CANADA, INC 1:5 - LBS [- KG] SHEET 2 OF 2

8 7 6 5 4 3 2 1



	Sheet1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10

	Sheet2
	Drawing View11
	Drawing View15
	Drawing View16
	Detail View A (1 : 2)
	Drawing View18
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23


